8L 08 14 99 € T 0 0 (4 14 0€ 9¢ T %SSY
LST 191 6 99 9 [4 T T T4 6C 09 (42 C %606
9€¢C (474 €T 99 6 € C [4 8¢ 124 06 80T € %¥9ET
STE [443 8T 99 €T 14 € [« 18 85 o7t 144" 14 %8181
6€ €0¥ (45 99 91 S 14 € 9 €L 0ST 08T S %ELTT
€LY 8 LT 99 61 9 S 14 LL 88 08T 91¢C 9 %LTLT
¢SS S9S 1€ 99 (44 L 9 14 06 €01 0T¢C (474 L %C8'TE
T€9 St9 9¢€ 99 9C 8 L S €01 LTT (474 88¢C 8 %9E9E
0TL 9L o 99 6C 6 8 9 91T (43 04T (743 6 %160V
681 £L08 St 99 [43 0T 6 9 6C1 LT 00€ 09€ 0T %Sy SY
898 888 0S 99 9¢ 4" o1 L [44" 91 0€E 96€ 4! %00°0S
96 896 S 99 6€ €1 ot 8 VST 9T 09€ (434 [44 %SS 7S
Szot 6701 6S 99 w 14° jas 8 L9T 16T 06€ 89% €T %6065
o1l OETT €9 99 Sy ST 4% 6 08T 90C (17474 ¥0S T %¥9°€9
€811 oret 89 99 (94 91 €T () €61 0ce oSy ovs ST %8189
9zt 16¢T L 99 (4 LT 4" 0ot 90C GEC 08%y 9.S 9T %ELTL
TveET CLET LL 99 <SS 81 ST 1T 61¢C 0SC 0TS 19 LT %LULL
(17448 ESPT 18 99 8S 61 91 T [414 574 oS 8¥9 81 %C8'18
66¥T €EST 98 99 29 (174 LT (45 74 6LC 0LS 89 6T %9€£°98
8/ST 191 06 99 S9 153 8T €T 8S¢C ¥6C 009 0zL (174 %1606
£LS9T S691 S6 99 89 [44 6T 14" TLC 60€ 0€9 9SL 1T %SP'S6
9€LT 9LLT 00T 99 L LL4 0t ST 8¢ 1443 099 6L [£4 %00°00T
pd pd ezl
(saayefinyas (saayeljnyds
‘PISOELT MW I 'PAS9//T N ‘PISul ‘Pas ul | pas ul ‘Pas ul ‘psul Eom_xw.wuﬂ .MMMN.mE va*._._wduzN.meoN.mS V Yo1a1ag WoA g/g yarjayefl AN "Yaom
'Pas 9€4T uuousaiyer | *pas 9ZLT wuousaiyer
@
3 & ] : z m < 2y w::mHMF__mem
- ® 3 m g g g m 2 (D yarzaagsuay3ne]) (0 yorasagsuaxdne]) (@ Mu_eons_e_m:m: (v yoresagsuax3nel)
m m m m < m m w m ml. ua)ay8ne] asnsuos uayay8ne| a8nsuos RSP Sumuyoiydiansiyaiusiun
= ~3 2 ® 3| g E E ESRESN
h ./ qw-
=)

(pd pun BZ|] USpuN3ISUsY30/\ Z¢ siseg / ¥1az|1aL




